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30197620 Uu| wnih 1900 15 28,50
30193100 |DwjA4 S50dpypn Uu| wnuh 1300 10 13,00
30193100 |@npwwwiwl wpwqulwp Ul| huwwn 80 100 8,00
30193100 |@npwdwuwl Yusny Uu| hwwn 30 80 2,40
30193100 Opwp huptwunuhtdynn22.5x11.5ud Uil 2k 5 50 0.75
30192121 |9phs gunhywdnp/pwpuily/ UU| huwwn 80 100 8,00
30193100 |Gwphdfu gphs Dolphin 5.2g Uu| hwn 260 20 5,20
30193100 |Stwnp 48ptpp Uu| hwwn 190 10 1,90
30193100 |Spwubljwluwihu qhpp/200ks/ uu| hwwn 800 20 16,00
30193100 [Upnuutiph Yusntt pninp Ulu| huwn 220 20 4,40
30193100 | "wnhh(unbuyitinh) wutinKangaro 24/6 uu| hun 170 5| 085
30193100 [<waydhs Ud| hwwn 6 000 1 6,00
30192125 | Tl uul  hun 180 10 1,80
Jwplbp/Ylywwnin, Sywpdhp/
' Cununibup 96,80
' Hannpuyp
30000000 |Upwywbphy 1) uu hww | 5000,0 4 20,00
30000000 |Upwlwntiphy pinp hwp N300 uu hww | 6 000,0 2 12,00
30000000 |Udnpuwghyhuh Ywfunyp 250dig/5 100d]  UU hwuw 844.0 5 4,22
30000000 |Wuwwphiht n/h 10dg NSO uu hww 329,0 1 0,33
Uuynpphwpepent gyniynquiny n/h 0.1
30000000 K10 Uu —_ 84.0 3 0,25
30000000 |Phwwuwnbuuppwpuntp 5% 30gp Uu hww | 2409,2 1 2,41
Phpnnnuw indnyp huquiwghwih
30000000 b2 Uu hua | 2590.0 i 2,59
Pdojwlwl glfuwnl wnwug wpbuh NI
g i Uu | hwn | 14,0 300 420




150,00

30000000 |9hgbphup dndhly 1.0 N10 uu hwwn | 1150,0 2 2,30
30000000 |"YEwwyhu jupnun n/h300 dg N100 uu hwwn | 5390,0 0,4 2,16
30000000 |Hyuwdbnwgnuh upduly 4dg/1d N10 Uu hwn 748,0 2 1,50
30000000 |7hdwly pdolwlwu 3-wabpun Ni Uy hwun 14,0 500 7,00
30000000 |Enynd punty 0.1% 15g Uu hww | 19240 2 3,85
30000000 |Enghuh gpwijht (ndnype 2% N10 Uu hwwin | 3 980,0 2 7,96
30000000 [L-f@hpnpupu n/h 50dgN100 uu hwin | 1784,0 1 1,78
30000000 |Ywppwdwgbwhu 200dg N40 Uu hwn 518,7 1 0,52
30000000 |4ptint n/w 10000 N20 Uu hwwn | 26180 5 13,09
30000000 |3nn wyndhnnup -p 10% 1004, uu hwin 700,0 2 1,40
30000000 |Mpnwwgnih médnyp 2% 1541 uu hwn 254,0 5 1,27
30000000 |8tdLYynu D dndhly 100dg N10 uu hwwn 392,0 2 0,78
30000000 |8t$uiphwpunt upduwl 1.0g N1 uu hwin 200,0 20 4.00
30000000 |dnpuwnbpu whuwlwphiwihu 104; uu hww | 1880,0 2 3,76
30000000 |Shwpn$nupuwghtt whuwlwph) 0.3% uu hwwn | 577,98 5 2,89
30000000 |Ypbnu n/w 10000 N20 UL hwwn 2 409 12,0 28,90
30000000 |9hgbphup dndhy 1.0 N10 uu hwn 1093 2,0 2,19
Zbpuhnly,pinphbpuhnhu wynbwn
30000000 |<ERUPINY.pINphEpuhnhl nhlywly TR | (e i 0,49
30000000 [f@npwd onip Uu hwn 2171 2,0 0,43
30000000 |buwnuwihquu LEdnyuhw 40dq 304; Uu hwwn | 19283 2.0 3,86
Cunwdkup 136,13
Eubpgbunply swnuwynipyniutbp
65310000 |Eubpgbinply dwnwnigniuubip Uul yyw| 5612,72 38,0 213,17
65310000 |Eubipgbinhly dwnwjnipniutbp Ud| Lyw| 162982 48,0 781,99
65200000 [Rbnmgdwu dwnwjnipjniutbp uu fud] 3 563,0 139,0( 495,26
65310000 [Eubpgbwhly dwnwnyeniuubp Uul Ydw| 46771 43,5| 203,36
65310000 [Eubpgbwnply dwnwjnyejniuttp uu Ydw| 13178,5 535 704,79
Cunwdbkup 1 490,41
Undnibw Swnwjnip)niuibp
65100000 [gpwhtinwgdwu uu|  fud 2458 27,0 6,64
65100000 |gnwhbnwgdwu uu fud 108,2 30,1 3,25
65100000 |2puiwwnwlwpwpiwl uu|  ud 245,8 153,0 37,61
65100000 |Rpwiwwnwlwpwpdwl Uud|  fud 108,2 170,4 18,43
65100000 |2pudwwnwlwpwpdwu uu fud 272,0 170,4 46,35
65100000 |9pwhbinwgdwl uu fud 2720 30,1 8,18
65000000 |“Enwwnhqughw Uu p.d 400,0 20,0 8,00
' Cunwdbup . 128,46
: Yuwuyh dwnwjnipniu
gaifizn |- rERMnpuipl junuwhigntpiul qaun ual wihi 1,0| 20 000,04] 20,00
b pnwbjwdbwnp
72400000 |Puwbpubin Yuwh Jéwp Uu| wdhu 1,0  5000,0 5,00
gagiipy [ShOWhwInpTElLl U wipu 1,0] 20000,0] 20,00
Swnwinipntuubp02.2022
Chnwhwnnpnnipjwu
72400000  |dwnw)nipjniuubin02.2022/huwnbipubin wdhu 1,0 5000,0 /5,00
Yuwuwh Jéwp :
Cunwdbkup
Ubpbuwubph b vwppwynpnuiubph pupwghy unpngnid b wyywhywiund
50311240  |Rwppphsh thgpwynpnud Canon 10 | UUl hwml 5000 1,0 5.0




50311240  [Pwppephsh (hgpwynpnwd Canon FX 737 Uu| hwwn 5000 1.0 50
50311240 | Rwppephsh (hgpwynpnud uly/gniuwynp Uu| huwn 6000 1,0 6.0
503240 | Fwnerhsh ihgpuinpnud Samsung uu| hwn| 5000 5,0
SCX3400 1,0
50311240 [P4NRNeh (hgpuidnnd Samsung UU| hwwn| 5000 5,0
SCX3400 1,0
50311240 | Rwppephsh (hgpwynpnud Xerox Ph 3122 Uu|  hwwn 5000 10 50
sogiipn: || SRl HRGEUG Gy Aerax Uu| huwn| 8000 8,0
Ph 3122 1,0
Cunwdbup 39,00
Ctupliph U Ywnnygubiph pupwghl tinpngnud b wwhwywunud
44112660  |wpwagnypubph phyh uuf d 4000 4,5 18,0
funnnyuwly 6Yniu UU| hwwn 1300 8 10,4
Ywpnwl wpunwpht 2 nbn Uu| hwwn 700 2 1.4
Uhthynu hwwn 1200 2 2,4
LbpYy wbpngng hwtn 1200 1 1,2
Updwuwint Yuipnn ufuywnuwly huwin 2 000 1 2,0
Lywguwpnt /dbunwnwlwl Yinp/ hwn 13 000 1 13,0
Ephwnnpnwiwp 2 deynwhsny d 500 5 2,5
2nnhs /Ly, hwn 4 500 1 4,5
Cunwdbup 55,40
Snyph b uwppwynpnpdubph Jupdwlwinyeiniu
Nhnunpwihnfuwnndwy dwnwnuypniu Uu| wdhu| 2000,0 1,0 2,0
Cunwdbup 2,00
Vwubwghnwlwl swnwjnipjnitubp
85121000 AU LaubngULbNtY WipARnuL uu| dwpn| 6000,0 19,0] 114,00
pnidquunipqwl Jéwp
g5121000| AU wMwUhgLlbnh wwnplpwhus uu| dwpn| 6000,0 20 12,00
pnidquunipwl Jéwn
Nsbswgdwl Gupwlw pdolwlwl
pwihntbiph Juwuwqgbpénd hwdwawju Uu Ug 800.0 1.0 8.80
hwué.pun wlwn 639-19/1
90521300
Nsuswgdwl Bupwlw nbnnpw)ph
Juwuwgbipdnud hwiwdwju hwa.pun ud|” gl 1200,0 3.5 4,20
90521300| wyin 639-19/1 :
CLunwdbup 114,00
Cunwdbup wuypwbpubp 232,93
Cunwdbup Swnwjnipyniuitp 1879,28
Cunwdbup wwypwupbbp L 2 112,20
dSwnwnipniuubp
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